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1.- (25 points) Consider the following page reference string:



1, 2, 3, 4, 2, 1, 5, 6, 2, 1, 2, 3, 7, 6, 3, 2, 1, 2, 3, 6
How many page faults would occur for the FIFO replacement algorithms, assuming one, five, six, seven frames? Remember that all the frames are initially empty, so your first unique pages will all cost one fault each.
2.-  (25 points) Consider the following page reference string:



1, 2, 3, 4, 2, 1, 5, 6, 2, 1, 2, 3, 7, 6, 3, 2, 1, 2, 3, 6
How many page faults would occur for the LRU replacement algorithms, assuming one, five, six, seven frames? Remember that all the frames are initially empty, so your first unique pages will all cost one fault each.
3.- (25 points) Find the working set (WS) for each locality assuming that the WS is computed each 6 references for the following reference string:



1 3 8 5 9 3 4 3 4 1 3 4 5 6 7 5 6 5 7 8 7 8 7 8 7 9 1 2 5 4 

4.-  (25 points) Consider the two-dimensional array A: 
int A[][] = new int[100][100];where A[0][0] is at location 200 in a paged memory system with pages of size 200. A small process that manipulates the matrix resides in page 0 (locations 0 to 199). Thus, every instruction fetch will be from page 0. For three page frames, how many page faults are generated by the following array-initialization loops, using LRU replacement and assuming that page frame 1 contains the process and the other two are initially empty? 

a. for (int j = 0; j < 100; j++)

for (int i = 0; i < 100; i++)

A[i][j] = 0;
b. for (int i = 0; i < 100; i++)

for (int j = 0; j < 100; j++)

A[i][j] = 0

